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1. Work from Days:

1
IT A can do a piece of work in nm days, then A's 1 day's work = e

2. Days from Work:

ITA's 1 day's work = then A can finish the work in n days.

H.‘
3. Ratio:
IT A is thrice as good a workman as B, then:

Ratio of work done by Aand B =3 1.

Ratio of times laken by A and B 1o finish a work = 1 : 3. ..
L
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TIME AND WORK

& can do a wark In 15 days and B in 20 days, IF they work an it together for 4 days, then the fraction of the waork that

iz l=fl is
e o
e
1
m —
10
i
15
B
b- E

anzwer: Opton D
Explanation:

A's 1 day's Work = L

15
1
B's 1 day's wark, = —— .
5 20
S RN e i | iR

T
LA+ BYs 4 day's work = [E 4 =

o
Th T: R irni rk 1 i i
BreTore SISy W = 16 a5
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TIME AND WORK
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Socan fay railway track bebwean bwo given siations in 16 days and B can do the same job in 12 days Wilth help of &,
thesy did the job in 4 days cniy. Then, & alons can do the job in

A E'% davs
2

B 9= days

e. a> days
L

D. 10

anewer: Dpilon &

Explarnatiomn:
) i
A+ B« s 1 days work = E .

Als 1 dayws WwWark = i .
15

1
E=1d = —
= By S W 5

1 1 1 1 7 5
T i ik e Sproein, v B . SR i . ¢
s 1 day's work = S 16 = 12] = [4 - 43] = an
18 3
=0, O alone can do the works In E == E'E days.
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assisted by B and C on every third day?
A. 12 days

B. 15 days
C. 15 days
D. 15 days

Answer: Option B

Explanation:

i 1

A's 2 day's wark = [ﬁ }{2] = 10
A+ B+ C)ys 1 day's work = l+l+l e BT,
{ ) ¥ ~lse Y30 T B0} B0 10
Work done in 3 days = l+l —1

==\ %6 10} &5

1 . .
MNow, E work is done in 3 days.
Whole work will be done in (3 x 5) = 15 days.
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A alone can do a piece of work in 6 days and B alone in 8 days. A and B undertook to do it for Rs, 3200, With the

help of C, they completed the work in 3 days. How much is to be paid to C?

A. Rs. 375
B. Rs. 400
C. Rs. 600
D. Rs. 800

Answer: Option B

Explanation:

C‘s‘fda'swurk—l i+1 L A
¥ "3 lsT8) T3 247 24
o 1

A's wages . B'swages . C'swages= — . — . — =4:3: 1.
6 & 24

.1
S C's share (for 3 days) = Rs. [Sx 22 X SED{JJ = Rs. 400.
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TIME AND WORK

Aocan do a pece of work in 4 houwrs. B and O togethar can do it in 2 houwrs, while Aand C logether can do it in 2
hours. How long will B alone taks to 9o 17

F 2 hours
B. 10 hours
C. 12 hours

0. 24 hours

A n=wer: Option S

ExXplanatdocn:

Als 1 hour's work = _-ll =

(B +Z¥s 1 hour's work, =

M2 )=

{A+ C)s 1 hours work —
1: 1 r
(A4 B+ 0Ys 1 hours Wwork = | = + % =5

B's 1 hour's work. = | —— - —j

B alane will take= 12 hours 1o do the wiork.
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A. 16 davs
B. 20 daws
C. 26 daws
0. 20 days

Answer: Cpton o

Explanation:

1
&+ Bi's 1 dav's workk — —

10
21 gay's wark - &,
EO
; q 1 (= 3
(A+B+C)Ps 1 dayswork = | o= + 5:!:] s
Bts 1 day'swork = (B + TFe 1 day's work . (i)
a

From () and (i), we get: 2 x {&'s 1 day's work) = ary

3
=5 A'S- 7 day's work = ——
L4 50

5 3 2 1
B's 1 day's wark e R — o e — Ly
4 [1D :rcnj 50 25

So. B alone cowld do the work in 25 days.

TIME AND WORK

do a certain wor in the same time inwhich B and C together can do . ITA and B logether could o
a's and C alone in S0 days inen B aone could 3o i i
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TIME AND WORK

A can finish a work in 18 days and B can do the same work in 15 days. B worked Tor 10 days and left the job. In
how many days, A alone can finish the remaining work™?

A. 5
B. 51

2
G. &
D.

Answer: Option C

Explanation:

1 2
B's 10 day’ o= | =% 10| ==
= ay's wo [15 x ] 3

Remaining work = [

-
3

1

5

1
Moy, ET work is done by A in 1 day.

1 1
3 work is done by A fn[ﬁs ® E] =5 days.
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TIME AND WORK
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A and B can together finish a work 30 days. They worked together for 20 days and then B left. After another 20

days, A finished the remaining work. In how many days A alone can finish the work?

A. 40
B. 50
C. bH4
D. 60

Answer: Option D

Explanation:

)
(A + BYs 20 day's work = [—

30

x 20 €
=g

Remaining work = 1 g = 1
9 B 3] &

4
MNOow, 5 work is done by Ain 20 days.

Therefore, the whole work will be done by A in (20 x 3) = 60 days.
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TIME AND WORK

P can complate a waork in 12 days working G houmns a day. @ can complete the same work in & days working 10
hours a day. If both P and O work togeiher, working B howrs a day, in how many days can they complete the waorks

7 5
' o = Sy
11

5
m. 5T

5
. e=-
= T

L

£ e CIDTeory
Htplqnuﬂﬂn
F can complete ihe work in (12 % 8) hirs. = 96 hira.

Gl can camplete the wark (0 (8 10) hre. = 80 s

- 1 | 1
5 e ours Waosrk e =Ty T B AR =T Ny T T - P T g =0

. k| + 14
(P = a1 ours wWork — [Qﬁ ol R
A0
o3 both Frand o will findsh the work im e Hr=.
i _fa80 _ 1y _ 60 5
L umbeer of days of E hours ssch = [—_11 x E] - days = I:'n—_I1I daye
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10 women can complete a work in 7 days and 10 children take 14 days to complete the work. How many days will 5
women and 10 children take to complete the work?

A. 3

B. &

B2 F

D. Cannot be determined
E MNone of these

Answer: Option C

Explanation:

1
1 woman's 1 day's work = 0

1 child's 1 day's work = ——
140

. , oS TED s il il . 3
(2 women + 10 childreny's day's work = [TD + 140] = [14 + 14] ==

> women and 10 children will complete the work in 7 days.

12/03/2025 TIME AND WORK/23GET276 - VQAR 11/S.SHARMILA/EEE/SNSCT 12/20



TIME AND WORK

gé)

%M

Ravi and Kumarn are o working on an assignment. Ravi takes & howrs o type 22 pages arn a corm puiar, while Kuamar

tzkes 5 hours to type 40 pages, How much times will they take, working together on two different computers to type
an assignment of 110 pages?

A. T hours 20 minutes

B 8 hours
C. B hours 15 minuies
-]

3 nours 25 minudies

Answer: Optlon C

Explanation:

Number of pages typed by Raviin 1 hour = % 1%

&=
40
Fumber of pages typed by HKumarin 1 hour = — = B
MHumber of pages typed by both in 1 hour = [ J

2
% Time taken by both to tvpe 110 pages = [11& = —j hours

4
= EI-E mours (ory 8 hours 15 minutes
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A, B and C can complete a piece of work in 24, 6 and 12 days respectively. Working together, they will compleie the
SAME wWiork n:

1

A —d
24 E}l'
2

B. — da
P i

2
. 35— days
7 ¥

D. 4 days

Answer Dpthon G

Explanation:

Formula: if A can do a piece of work in 7 days, then A's 1 day's work = %
. . 1 1 1 e
{(A+ B+ )3 1 day's wark = [2-‘4 +* = + 12] = oa
Formula: ITA'S 1 dalys wark = % ien A can Tnisn the wWork in 0 days.
24 o
=0 all the three fogather will completse the job in 7 days = B? days.
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Sakshi can do a piece of workl in 20 days. Tanya is 25% more efficient than Sakshi. The number of days taken by
Tanya to do the same piece of work is:

A. 15
B. 16
c. 15
D. 25

Answer: Option B

Explanation:

Ratio of times taken by Sakshi and Tanya=125100=5: 4.

Suppose Tanya takes x days to do the work.

. St | S :‘}X=[

— x = 16 days.

4 x 20
o

)

Hence, Tanya takes 16 days to complete the work.

12/03/2025
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TIME AND WORK

A @#nd B can compliete aswork in 16 days and 10 days respectively. They started doing the work together but after 2
days B had to =ave and A alone complatad the remaining work. Tha whole work was complated in -

A, 0 days
B. 10davs
C. 12 days
=]

15 davs

Answer Optlon ©

Explanation:

; = 1 a = if
A + BY's 1 day's work = [15 + mj = —

4
Waork done by A and B in 2 days = [— xz] =

& %

1 2
Remaimning work. = ['I = E] = 3

1
P, o wiork s done by Aodbm 1 oday

i 2
B Wiork will be done By a In [15}:‘ 5] = 10 days

Hemnce, the total time 1aken = (10 + 2% = 12 davs.
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A oworks twice as fast as B. IT B can complete a workl in 12 days independently, the number of days in which & and B
can together finish the work in :

A. 4 days
B. & days
C. &8 days
D. 18 days

Answer: Qption A
Explanation:
Ratio of rates of working ofAand B =2 1.

So, ratioc of times taken = 1 [ 2.

1
B's 1 day's work = — .
12

1
o oA's 1 day's work = e (2 times of B's work)

A+ BYs 1 day's work = 1+L -
{ ) ¥ s 2] A2 T

So Aand B together can finish the work in 4 days.
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TIME AND WORK

enty wormen can do a workl in sixieen days Sixteen men can complats the same work in fifleen days, What is the
ratio etween the capacty of 2 man and a woman?

Y A 5:4
B. 4:3
G TS

O  [DCata inadeguate

AnsweEr: Option B
Explanatian:

(20 x 15} wormean can complete the work In 1 day

1
pe e fia

= weaman's 1 day's work -

(18 x 15} men can complets the woik in 1 day.

1
1 man's 1 dav's woilk = ——
¥ =240
S0, reguired ratio = T
] 240 G20
| 1 1
a 4
=d 3 {cross muiltiplied)
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Aocan nlsh a work in 24 days, B in 9 days and C in 12 days. B and G stact the work but are forced 1o leave after 32
days. The remaining work was dons by Ain

A. & days
B. 6 days

c 1D days

TIME AND WORK

i}
o
B. 107 days

An=zwer; Opltion C

Explanation:

1 i) i

B+Cys 1d o= | = g M=t rar

(B +i)ys AV'S WOT 5 * 12:] g
ok o = O Cin3d = l 3 _l
o one by 8 an n ays= | 35 X Sy

F S
Remaiming work = [_1 - E-J e

Pz, ;_d work is dong by Adn 1 day.

] ]
S0, Iz Wk IS doane Dy AN [2-1 X E] = 10 days
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